HAR 17HE e Mguie] 474, 2708 ot

Sajel MLyl

L OO

7747t EL3sict. olz{et &l

2 HARE o

HJ|[IJ

otsa{ dE7iEl 32+ 1747t

LE!

sfet w2k 2074e] FARE S ghEE{H 61

el Mzt Lestct

73]
2@
[514]
M o] we wr|LiRe 1o
< wimjo| 42 WI|LtRE A wn ol 3742 o
aA 47

Ml ol &2 47(LRE & i Aol 57HE o
sl A 974
U eimjoll 42 47[Lte= M B Ao 77HE o
sl A 1674
CHY EHmfol] 42 W7|Ltes U ¢ Zol|l 97HE

Csii A 2574

[7&]

30
[aH 4]
AN ool 42 AT|LRE 14, 5 oemo] 42 4
TR = 470, Ml esol 42 AT|LER= 97H, 4|

Hufo| 42 4A7|LIR= 167H0|22 o|2f &2

Nl

S HESHH nHujol| 42 A7|HF= nxn(H)

olck m2M 15 wHmo] A2

S

wo|LRs

15x 15 = 225 (7#)o|c}.

[78]

(78]
50
(ol &]
[=0+6 E& O=[]-50|ct.

(78]
6 ®
(5 &]

[(=A+8 L& A=[]x80|LC}.

[78]



7@

(73]
8®
[a14]

18 — 9 (9
o X100 = 72(%)

[78]
90
[ati <]
28t 1E2 0.210|22 300x0.21=63(&l)o|Ct.

(73]
10®

[67F]
11®
[afl &]
3:5=1200:(8) ol2=2 3 x(uf)=60000|ct, 1B{22
(8§)=2000(7H)olct.

[6F]
12 g5 (25)7H, 2= (20)7H
(5 &]

FLb 45 x %: 25(7H)

[67]
13 ®
[5 4]
=Ho| X120 40080[22 8XI=ES AlH 32009

Ji=3

5000-3200-18000|22 HAE=2 18000|ct,

[6F]
14 ®
[aH&]
120 7LE 2eW JI5 M Zele A2
1502022 =S¥ 32| &2 7x150=1050(L)0|ct.
of =30 120 5.4 =5 E2 Wf 715 M<?
71 flet AMZke z(&)ol2k sFH, 502 =10500]12
x=210|C}.

et S-3E 7S 7| flsiMeE 2120 &

=1=3
[6E]
15 ®
[ai«
MRE MBS 7I2+2 2(H)ol2} 5t ofd 408t

HiZH 4 At2sh 1 48000t HEES 25 AtESH=M|
He|= 7|12+2 ok A2 402 = 48000l =120
olck.

matd e 1204 S0t AFRE 4 Uch



